M8 -10.2 - "tax = b" HW

Solve for x.

Solve for x
6x =3

Solve for x
Tx =2

Solve for x

24x =18

3x =12
10x = 20
5x = 65
30 = 6x
12 = 3x
0=2x

2x =6

23)=6
6=6
8x =2
1x =2
bx =a
20 = 15x
2 = 6x
0=2x

Answer should say x = ___

5x =45

4x =2

7x =1

3x =3

12 = 4x
—12 =9x
4 = 6x
2=10x
—24 = 8x
16 = —4x
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20x =15
4x =0
3x =—4
6x =-—12
—14x =21
—2x =

24 = 8x
14x =10
4 =9x
45x = 27
1=2x
5=3x
3 =2x
3x =1
6x =7
5x =2
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b 3 3
ax a
b b
Solve for x
2x_6 2 =6 4 =—x
3 3%~ 3
2x 20x ax
-x=6
c -1 — —3x —
7% 3 - =—6
2_x=4 3
5 6=Zx 12 _—15x
10z, 1x —*="3 —5=—
3x _ . o — =10 2
5 427 E—C _ZX
2 =5
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